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MASTER OF ARTS (ECONOMICS) 
Term-End Examination 
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MECE-003 : ACTUARIAL ECONOMICS : 

THEORY AND PRACTICE 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as per 
instructions given under each section. 

SECTION I 

Answer any two questions from this section. 	2x20=40 

1. State and prove Chebyshev's theorem. What is 
the Weak Law of Large Numbers (WLLN) ? 
Explain the application of Chebyshev's theorem 
in WLLN. 

2. What is gambler's ruin problem ? How do you 
determine the duration of a biased and an 
unbiased walk ? Explain. 

3. What is the fundamental principle of 
equivalence in insurance ? Discuss the classical 
valuation of insurance contracts. 

4. What is Cramer-Lundberg approximation in 
classical risk theory ? Explain the collective risk 
model. 
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SECTION II 

Answer any five questions from this section. 	5x12=60 

5. Describe the various components of a life table. 

6. What do you mean by multiple decrement 
theory ? 

7. Explain the Extreme Value Theory (EVT). What 
is the Generalised Extreme Value (GEV) 
distribution ? 

8. What do you understand by the following : 
(a) Stationary increment 
(b) Markov process 
(c) Martingale 

9. Explain the Chain-Ladder reserving method. 

10. Why should insurance industry be regulated ? 
Who should regulate the insurance business : 
State Governments or Central Government ? 
Give reasons in support of your answer. 

11. Distinguish between any two of the following : 

(a) Single and multi-period contract equations 
of non-arbitrage insurance premium 

(b) Classical credibility and Buhlmann 
credibility 

(c) Unearned premium and unexpired risk 
reserve 

12. Write short notes on any two of the following : 
(a) Compound Poisson process 
(b) Unit-linked insurance 
(c) Life annuity 
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